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(21) y= (22 + 130 + 1)°
(2-2) y=x+V22+a
(2-3) y =™
(2-4) y=e"
(2-5) y =tanz
(2-6) y = sinax cosbx
(2-7) y = sin’ ax
(2-8) y=sin"'x
(2-9) y=cos 'z
(2-10) y =tan"'x
(2-11) y = (1 + 2?)e®
(2-12) y = e¥n®
(2-13) y =2"
(2-14) y = a5*

(2-15) y = V/sin2x

2 -1 x
log(1—a)— £ -2
5 log(l—2) -5 -~

(2-17) y = e** cos bx

(2-16) y =

(2-18) y = (logz)®

(2-20) y =sinz?®

(2_21) Yy = 6sir12az
(2-22) y==zloge —x
(2-23) y =log ‘tan g‘
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2-24) y= —1
(2-24) y 5 108
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(2-25) y = 5(1'\/1'2 +a+alog |z + Va2 + al)
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(2-26) y = log (

(2-27) y = 10g‘:z:+x/x2+ 1‘
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2-28) y = —tan®z + 3t — —
( ) v 3 anr + otan tanz 3tan’z
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(2-29) y = §log |cos x + sin x| + 5

(2-30) y = xsin 'z + V1 — 22

(2-31) y = 2atan™' orr Va? — x?

a—x

U |
(2-32) y = - sin” — — —axva? — 22
a
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1 V3 + tan &
2-33) y = —log |—— 2
(2-33) v \/ég\/ﬁ—tang‘
1 24 V2w +1
(2-34) y = ——log | V20
4+/2 22 —2r 41

1 1 -1
+2—\/§ (tan (V2x +1) + tan " (vV2z — 1))



